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[JL2a7 #8 600 20600 16.900
[ JL23g Filz] 600 | 20,600 16,400
241 L] 600 18200 [ 20600 20000 16400
[E[TES [ JL232 Filz] 600 15,900 |
[Cur23a #8 600 17, [
236 Eil] 600 [
240 i) 600 [
242 =] 500 2
R (PB)=LS RRER(AE)% [ JL253 L] 000 |
[ 255 Eilz] 000
(o257 i) 000
[JL250 Eil] 000
[ JL261 i) 000
[JL263 Eil] 000
[ JL265 #8 000 | 22500 | 20400 — |
267 w8 000 22500 21,000 | 19500 |
LB [_JL252 Eilz] 000 22,500 16.900 15400 | 2
[ut254 #8 000 22500 21,000 | 18900 |
[ 256 i) 000 [
[ 258 #i8 000 I
[ 260 Eil] 000
[JL262 i) 000
[uL264 i) 000 [
266 iz 500 |
R (PE)=HE RRCEE) R [ JL217 FEEL] 900 |
[JLe79 3E 8] 900 [
(283 3E AT 900 [
[uL2es 3E 8] 900 [
287 3E AT 900 [
HER [JL276 38 900 |
[CuL278 3E AT 900 [
[ uL280 3E 8] 900 [
[t2se 3E AT 900 [
86 3E 8] 900 [
R (PE)=ES RRE(AE)R [ JL453 FEEL] 600 K
[ uLass 3E 8] 600 I
[CuLase 3E AT 600 I
[uLd61 3E 8] 600 I
[ JL463 3E AT 600 | 31200 | 21.100 I
465 3E 8] 600 31200 | 27.100 | 22400 | 3
EB% [_JLa52 3B H 600 31,200 20,400 17700 | ¢
[uLase 3E 8] 600 31200 20000 | 17400 | 3
[ JLase 3E AT 600 | 31200 | 20000 I
[ JLaco 3E 8] 600 31200 27.100 I
[ JLa62 3E AT 600 | 31200 | 27.100 [ 31600 31200 | 24700 —
464 3E 8] 600 27100 | 22900 | :
R (HE R (FE)f 475 EIiE] 200 26.100 21800 | 2
477 i) 200 26,100 - | 3
[JLar9 #8 200 26100 | 21,600 | 2
N Fil] 200 26100 | 21900 |
[ JLass L] 200 26,100 — 200 | 26700 | 26,100 —
[JLass Eilz] 200 26,100 — | 27200 26,00 26100
487 #8 200 26100 | 23400 | 27200 26700 26.100
BT [uLa74 #i8 200 26,100 22,000 | :
476 L] 200 26100 | 22600 |
[JLazs Filz] 200 26,100 [
[JLago L] 200 26,100 [
[JLasy Fil] 200 26700 26,100 26700 | 26,100
[utase #8 200 | 26700 | 26,100 [ 26700 26,100
486 Ei 200 26700 26,100 [ 26700 26,100
R CHAE)=F4 WR(FHE)E | _JL491 3BH 400 27,400 217.300 | 27,400 27.300
INETE) 3B 400 34,000 31,000 I 34000 31,000
[CuLag5 3E AT 400 | 34000 | 31000 [ 34000 31000
[JLaer 3B 400 34,000 31,000 [ 34400 | 34000 31000
499 3E AT 400 | 34000 | 31000 [ 34400 34000 31000 —
B [ JLaso 3E 8] 400 34,000 31,000 [ 34400 | 34000 31000
[ Jtasz 3E AT 400 | 34000 | 31000 [ 34400 34000 31000
[JLasa 3B 400 34,000 31,000 [ 34400 | 34000 31000
[CJLase 3EH] 400 | 34000 | 31000 [ 34400 34000 31000
498 3B — 400 34,000 31,000 400 | 34000 | 31000

29200

21.100

26.100

26100

26100

26100

26,100

26100

34,000

31.000

34000 31,000

10/10
EEE | OEEE EEE
1
16,600
16.700
12,400
15.400 13,800

17,900

14,000




T5EEI511/3/7 1 BER(10A7~10BEERS)

EEEAR 2022/09/16  ~

y - N - 0/7 10710
- w4 m::;” m:j: s ﬁi”: ° ﬁi’; O [BEs A BE376 BE7C BETD 3 A7 A BE376 BEI7C BEIID
BAGE | BAKE | mARE | mASE EH EEE ?n EEE ERE EEE EEE EH EEE ?n EH EEE EH EEE
FR (FE) =l WR(FEBE)E | _JL481 3B H REEL 100 — 100 33,700 0
INEER) 3E A — 100 30,600 100 33,700 30600
[JLass 3BE | 7B# 100 29,900 100 33700 29.900
[JLaar 3B - 100 29,900 100 | 33,700 29,900
[JLass 3BT — 100 29,900 100 33700 30,600
443 3B | TEE 100 33,700 30600 29,900 100 33,700 30600
IS [_JL430 KEELT B8] 100 33,700 29.900 29.900 100 33,700 29.900
T 3B | 7E8] 100 33,700 29,900 29,900 100 | 33,700 29,900
[ JLass 3BT — 100 33700 29,900 X 29,900 — 100 33700 29.900
[JL436 3B 100 | 33,700 29,900 I 29,900 100 | 33,700 29,900
[JLass 3BT 100 33700 30,600 [ 54100 | 33700 29900 100 | 33700 | 30600
440 3B 100 | 32,100 30600 [ 34100 | 31400 | 29900 [ 34100 | 31400 | 29900 N
R (FE)=K% RR(EE)RE [ _JLe6l 3BRL 600 35,400 31,900 | 36600 35,400 31,900 30200 | 36,600 35,400 31.900 25300 | ¢
[ JL663 3E 8] 600 | 36600 | 34300 30800 20200 | 36600 | 34300 | 30800 | 27700 | ¢
[ JL665 3B 600 [ 36600 34300 30800 29200 | 36600 | 34300 | 30800 | 27700 | 3
[ JL667 3E 8] 600 [ 36600 | 34300 | 30800 29200 | 36600 | 34300 | 30800 28100 | :
[ JL669 3BT 600 [ 36600 34300 30800 29200 | 36600 | 34300 | 30800 | 28,100 | 3
671 3B 600 [ 36600 | 34300 | 30800 29200 | 36600 | 34300 | 30800 28100 | :
EE 3 | _JL662 FEEL] 600 E | 36600 34,300 30800 28100 | ¢
[ JL664 3E 8] 600 I [ 36600 | 34300 | 30800 28,100 |
[ JLe6e 3BT 600 [ [ 36600 34300 30800 27700 |
[JL670 3E 8] 600 I [ 36600 | 34300 | 30800 _ 27,700 |
[JLe72 3BT 600 E [ 36600 35400 31900 | 26500 |
674 3B 600 I [ 36600 | 35400 | 31900 | 25300 |
R (FE) =Ky RRER(AE)RE [ _JL60s 3BRL 000 | 4 | 40,000 37,400 32,600 25300 | 4 37,400 32,600 25,300
607 3B 000 [a [ 20000 | 37400 | 34000 28,100 | 40000 | 37400 | 34000 28100
[ JL609 3BT 000 [ 40000 36400 33000 30300 | 40000 | 36400 | 33000 [ 40000 36400 33000 | 28,100
611 3B 000 [ 20000 36400 | 33000 | 30300 | 40000 36400 | 33000 28,100 | 40000 | 36400 | 33000 28,100
INIE 3B 000 [ 40000 36400 33000 29300 | 40000 | 36400 | 33000 26000 | 40000 | 36400 | 33000 | 28,100
615 3E 8] 000 [ 20000 36400 | 33000 | 29300 | 40000 36400 33000 26,000 | 40000 | 36400 | 33000 28,100
AR [ JL606 3BT 000 [ 40000 36400 33000 | 28,100 | 40000 | 36400 | 33000 28,100 | 40000 | 36400 | 33000 | 29,300
[ JL608 3B 000 [ 20000 36400 | 33000 | 28,100 | 40000 36400 | 33000 28,100 | 40000 | 36400 | 33000 29300
[JLeio 3BT ,000 [ 40000 36400 33000 28,100 | 40000 0 | 28100 | 4 000 30300
[CJiei2 3B 000 [ 20000 36400 | 33000 | 28100 | 4 36400 | 33000 28,100 | 40,000 | 36400 33000 30300
614 3B 000 X [ 40000 36400 33000 28100 | 4 36400 | 33000 28,100 | 40000 | 36400 | 33000 | 30300
616 3E 8] 000 36400 | 33000 | 28,100 | 40000 36400 33000 | 27300 | 4 36400 | 33000 | 27,300 | 40000 | 36400 33000 32400
WRCHE)=-BXKE WRCHE) 659 JELT — ,800 47,800 33,000 — ,800 47,800 29,000 — X 47800 29,000 — ,800 47.800 29.000 —
BERER 658 TEH] — 800 | 47,800 29,000 — 800 | 47,800 29,000 — 800 47,800 | 29,000 — 800 | 47,800 35000




MEEZEI5121 BBER(10B11~1TEEES)

SEEEAA 2022/09/16 _ ~
10/11-17
BM — BEIOE
TEE goiw E
RRCAB=-ARFHR TR RR@EER 000 71% £:24.900. H:22.000
900 40% 25,100, %:26.400, +:26.500, H:24.800
100 39% 29.400
700 33% 9,
500 33%
L 000 | 54%
L 000 61%
L 500 62%
L 100 68%
L 000 68%
000 7
000 7
000 7
000 7
000 7
000 7
IR FFR) R L500 000 7
[uL502 500 7 —
[JL504 800 69% H
[ JL506 000 68% B
[ JL508 500 67% B —
L 000 | 68% & 127
L 000 56% Kl :16
L 000 52% K| :18
L 000 21
L 000 C21
[JL520 000 C21
[JL522 000 :18
[ 524 000 ( :18
[JL526 500 2% Al 2!
[ 528 500 72% 7,200
530 500 75% ,300. H:25,500
R CHE)=18R RRCAE R L303 000 78%
[JL305 000 56% 000
[JL307 000 71% .000
[JL309 000 38% 000, H:24500
L: 000 38% 000, H:24,500
L: 400 39% 000, H:25.200
L: 000 71% 000
L 300 44% 600, 26,500, H:25.400
L 100 45% 900, £:26.500, H:25.400
100 45% 000, £:25.700, H:26.300
[uL323 000 71%
[JL325 500 44% 300, £:25.600, H:26.800
[JL327 600 41% >:27.300, £:25.700. H:26.800
[JL329 000 71% .000
[JL33t 100 40% 700
[JL333 000 71% 000
L335 600 39% 700, H:27.400
BERE L300 ,000 71% .000
[JL302 000 71% .000
[JL304 000 40% 700
[JL306 700 39% 100
[JL308 100 40% 800, H:25.100
L: 000 71% 000
L .500 44% 600, £:26.500, H:25.600
L 500 6% 300, £:26.500. H:25.600
L: 000 71% Y
L3 400 42% 300, H:27.000
[JL320 400 42% 300, H:27,000
[JL322 000 71% 000
[JL324 000 | 49% 000
[JL326 400 42% 100, H:27,000
[JL328 400 39% 500, H:27.100
[JL330 000 40% 500, H:27.100
1332 000 71% 000
RRCRE) =94 B8 RRCAE R Lo01 000 66%
[JL903 800 41%
[JL905 800 4%
[JL907 800 41%
909 900 43%
L 000 | 68%
L 700 65%
L 1500 77%
L 4000 72%
900 74% .
[ JLo23 000 80% :17.700, £:19.100
L925 .000 82% 00, 7K 8,800, £:20.400. £:19.100
PR RER) L900 000 82% 00
[JL9o2 800 81% 000, H:16.400
[—JL904 900 72%
[—JL906 000 78%
[JL9os 700 65% 100, H:19.100
L 000 66% 500
L 000 64% 30,600
L 000 62% 700, H:30,600
L 000 62% 700, H:30,600
000 66% 700, H:30,600
[JL920 000 72% 100, H:25,900
L922 000 74% 100, H:23.400
AR(EB-AREFRTFR)| XREHR L2001 ,000 65% 700, H:19,400
500 70% X 1:16.400
300 72% 500
000 80% 300, H:16,300
IR FFR) R 12000 9,000 82% .300. H:16.300
700 71%
000 51%
000 65%
R CHE) =HIE RRCAE R L ,500 72%
L 000 73%
L 000 77%
LSS L .000 7%
L 400 | 62%
L 000 75 .000
RRCHE)=HIE RRCAE R L ,000 73 7600, £:23.600
L 500 57" 1,800, &:21.800, £:23,600, £:23.900, H:22.600
L 000 7
L 000 7
B L 000 7 .000
L 000 7 000
L 200 | 64% | £:19.700, H:18,700
L5 000 7 .000
R CHE)-EfE RRCAE R L585 ,000 61 00, £:25,700, H:21,600
[JLs87 500 50% 00, +£:20500
L589 000 66%
g3 [ JLss4 000 66%
[JL586 200 45%  7:21,300, :21,600, £:21,000, H:23.400
L588 000 61% | H:21,100
B CHE)=ILOFH RRERCAE) % L291 .900 7 £:11.900
[uL293 200 7
[JL295 200 7
297 200 7
\IOF#HRE L290 11,900 | 72% | £:12.900, H:11500
[uL292 9.200 7
[uL294 9.200 7
L296 9.200 7
RRECAE) =AM RRECAE) % 7. .000 5 100, H:18.900
L: 000 7 ,000
L: 000 5 500, £:18.900, H:24.000
L: 000 7 ,000, H:13.000
FEAME L .000 7 000
L: 200 55% 00, £:19.600. H:20.000
L: 200 55% 00, +:18.400. H:22.000
L: 000 76% ,000, H:13.000

JAL



MEEZEI5121 BBER(10B11~1TEEES)

SEEEAA 2022/09/16 _ ~
10/11-17
=30] T BEIMTE
B gmw
RRCHE) =R RRCAE R 000 75%
300 45%
000 48%
000 77%
000 50%
000 77%
RIGSE .000 7% 00
L608 000 48% 00, :25,.800, £:25,800. H:24,000
L 000 77% 00
L 900 50% 00, £:26.200, £ :25.100, H:26.300
L 900 50% 00, £:26.200, £:25.100, H:26.300
000 75% 00, H:14,000
AR (G =R AR (FFH % L 100 65% 00, B:10.800
L: 300 42% 00, F:17.800
L: 300 | 48% | 2::17,200, F:18,100, H:18,200
L. 800 66%  £:11,800, H:10.900
RIGS L. 800 66%  £:11,100, £:11,100
L 800 72%
L: 900 69% _ 2:10,500, H:10,800
800 44% | %:18,300, F:16.300. H:18.300
AR (FFH=ER. AR (FFH R ,300 51%  A:16.400. £:18,300, £:18.100, H:16.400
100 45%
100 45%
.300 51% 00, #:18.100, £:18.100, H:16.400
500 68% 00, +£:11.400
.300 51% 00, 1
300 51% 400, %
500 68% 00, £:11.
ERER 500 68% 00, £:11,
300 51% 400, %:16.900, £:18.100, H:16.400
300 | 57% 400, £:14,900, £:16.100, H:14,400
700 68% 00, +£:11.800
900 49% 100
100 45%
100 45%
100 45%
HRCHE)-R1E RR(HE) 3% .600 59% .000, £:31,900, H:31.900
000 75% ,000
BIER .000 75% _
600 59% 00, +£:31.900, H:31.900
R FFR) =R HRRE L. 200 58% 00, £:16.400, H:16.400
L: 200 | 58% 00, F:16,400, H:16,400
IR FFR) R L 800 59% 00, H:16.100
L: 200 39% 00, +£:22,.800. H:22.700

JAL



MEEZEI5121 SBER (10 18~24BEES) JAL

SEEEAA 2022/09/16 _ ~

10/18-24
=30] T BEIMTE
AR yz% i
R CHE)=18R RRCAE R 500 46% :26,000, 1:26.800, H:24,000
500 | 46% :26.000, F:26,800, H:24,000
000 40%
000 38%
000 38%
L: 400 39%
L: 400 | 30%
L: 300 a4%
L: 100 45%
100 45%
[JL323 500 46%
[uL325 500 44%
[JL327 600 41%
[JL329 100 40%
[uLa31 100 40%
[JL333 100 | 40% & ,
335 600 39% % 700, H:27.400
TR [ JL300 .900 43% 100, H:25,100
[JL302 000 40% .700
[JL304 000 40%
[JL306 700 39%
L308 100 40% 100
L: 600 41% 800, H:25.100
L: 500 a44%
L: 500 46%
L: 500 46%
L3 400 42%
[JL320 400 42%
[JL322 400 42%
[JL324 400 42%
[JL326 400 42%
[JL328 400 39%
[JL330 000 40%
1332 500 46%
RECRE) =4 () RER(CAE)®E [ JLe01 900 45%
[JL903 800 4%
[JL90s 800 4%
[JLoo7 800 41%
L909 900 43%
L 200 44% £:30.600, H:27.100
L 700 65%
L 000 68%
L 000 7%
[ 900 74%
[JL923 700 65% 00, 7K:15.000. £:19.100, H:19.100
L925 000 7 700, A:17.700, £:20.400, £:19.100. H:19.100
FREERE [ JLe00 800 7 900
[JL9o2 400 7 300,
[JLoos 900 7 200,
[JL906 900 7 800,
[JLoos 700 65% 00,
L 700 45% 00,
L 700 45% 00,
L 700 45% 00,
L 800 1% 700,
L 800 41% | £:27.700, H:304
[JL920 100 54% 00
1922 100 56% 00, H:23.400
EEEEES T ER(GE)E | JL565 800614 200, £:23.200
[JL567 800 61% ,200, +:23,200. H:20.800
L569 000 | 67%  £::20500, H:19,200
B3 [ JL562 200 60% 800, E:21
[JL564 200 60% 00, £:2
L566 .300 68% 00, £:19,800, £:15,800, H:20,800
R CHE) =]l HRE(FE)E [ _JL651 500 58% 700, 7K:22.500, €:24,900, F:27,100, H:23,000
[JL553 500 56% *:
[JL555 000 5%
557 200 61%
fEIES [ uL552 400 62%
[ 554 000 63%
[ JL556 000 61%
L558 900 69%
EEACEE T RRECAE) % Lt 500 64%
L 200 66% 00, F:18,200, H:23,500
L 200 66% 00, +:17.200. A:23.500
ElEES Lt .500 68% [ +:23000, H:23400
L 500 66% 00, £:19,500. H
L 000 69% 00, A:15.900, &
B (CHE) =R RRECAE) % Lt 500 65% 17.5
L 600 57% 600, A:21.600, &
L 500 57% 00, &
L 600 59% 00,
HIRFE L 600 61% 00, B
L 100 62% 00, B
L 100 62% 00, £
L5 600 69% 00,
HR (TH) =B ER(HE)%E [ _JL585 800 46% 00, JK:
[JLs87 500 50% 00, +:20,500
L589 000 56% 00, +:16,000
g3 |_JL584 .000 5 .000, £:19.500, £:20,000, H:23.700
[JL586 500 1300, £:21,600, F:22,300, H:21,400
L588 100 £:20,600, H:21.100
B (FE)=H RRECHE) % L 300 .900, £:16.
L .300 .900, £:16
L 300 .900, £:16
L 300 216,900,
L 800 52% >:16,900, £
L 300 53% 900, £:1
HHRE L 300 53% .900, B:1
L 300 53% .900,
L 300 53% 900, H
L 900 | 55% 00, 7K.
L 900 55% 00, 7K.
L ,300 53 .900, :
HR CFIE) =fE L RRCAE)®E [ _JU 400 1 300, %
[uL233 700 Z
[uL237 700 Z
[JL239 ,000 7% H:16.200, £:14,100, H:14500
L241 700 Z
[ZES [ JL232 700 4
[uL23a 700 Z
[JL236 900 62% | 2:15300, 14,100, H:14.100
240 700 74%
1242 000 57%  2:16,300, £:14.100, H:14.100
B (FE)=ES RERCAE)% [ _JL253 800 74%
[JL255 200 49% _ H:16,600, 2:19.300, £:14.500, H:14,500
[JL257 200 47% _ A:17.600, £:20.100, £:14.500, H:14.500
[JL259 800 74%
[CuL261 800 74%
[JL263 200 57%  2:16,000, £:14.700, H:14.700
[JL265 900 50% _ £:14,600, A:14.700
267 800 4
E&% [uL252 800 Z
[JL254 300 4
[JL256 16,200 7% H:16,600, %:16.700, £:14900. H:14.900
[JL258 800 4
[JL260 16,300 7% £:14,500, H:14500
[JL262 900 56% _ +:14,500, A:14.500
[JL264 700 48% _ /:19.400., £:14,500, H:14,500
L266 800 74%
B (HE)=HE RRECAE) % L277 900 69%
[JL279 300 32%  H:23.700, :23.900. £:24.400, H:22.300
[JL283 1900 69%
[Jr285 900 41% _ /:20,400, £:19.800. £:20.200, H:19.300
L287 900 69%
HER L276 200 43% _ 7:19,700, #:19,400, +:21.100, H:18,600
[JL278 900 69%
[JL280 1900 69%
[Jr2sa 400 31% _ H:24.300, :24.000, £:22.800, H:24.000
286 1900 | 69%




MEEZEI5121 SBER (10 18~24BEES)

SEEEAA 2022/09/16 _ ~
10/18-24
=30] T BEIMTE
WEE B3|% %
B (FE) -8 BRCAE)®E [ J 500 74%
[JL4s5 600 46% _ /:18.800, 2:18.700, £:12.700, H:12.700
[JLa59 500 74%
[CuLa61 500 74%
[JL463 600 46% _ /:18,800, 2:18.700, £:11.700, H:11.800
L465 500 74%
BEE [_JLas52 500 74%
[JLa5a 500 74%
[ JL456 300 50%  A:17.000, £:17.700, £:12.100, H:12.100
[JLa60 500 74%
L462 600 46% _ /:18.800, 2:18,800, £:12.100, H:12.200
L464 500 74%
B (FE) =ik RRECHE) % L 800 73%
L 700 35% _ A:21,000, 2:22.000. £:23,000, H:20.100
L 800 73%
800 73%
[JL4s3 0300 | 44% _ H:18,800, %:20,600, £:20.800. H:20.700
[JLass 600 35%  H:22500, :23.700, £:20.100, H:22.700
L487 800 7
B33 L474 800
L476 800
[JLa7s 300 12% __ 7:19.100, 2:20,000. £:20,100, H:19.100
[JL4s0 800
[Jrasy 600 7:20.100, £:20.700. £:19.700, H:23.100
[Jr4sa 4,300 3% H:22.700, %:23.700, £:19.700. A:23.300
486 800 3
R (FE)= RRCAE)® [ _Juot 800 75%
[JL493 400 47% _ H:19.200, :20.700. £:21.200, H:19,000
[JLags 800 75%
[Jrag7 600 42%  H:21.400, :21,500, £:19.200, H:21.300
L499 800 75%
TS [—JLa90 800 75%
[Jra9y 800 75%
[Jra9a 900 49% _ /:18,700, £:20,000. £:20.400, H:20,600
[JL496 800 75%
L498 900 36% _ H:23.700, 2:23.700, £:18,800, H:22.300
HR CRIE)=# L RRCAE)®E [ _Just 100 74%
[JL433 700 40% _ 1:22.800, :22.700. £:22.600, H:19.700
[Jr4ss 100 74%
[Jras7 300 51% _ /:19.400, 2:21.300, £:21,600, H:21.100
[Jr4ss 100 39%  H:23,500, £:23.400, £:21.100, H:23.100
L443 100 74%
EATTES [JLas0 100 74%
[uLa32 100 74%
[Jr4sa 400 48%  1:20.200, £:19.900, £:21,400, H:21.700
[JL436 400 48%  /:19.800, £:20,000. £:20,300, H:21.800
[JL4ss 100 74%
40 700 40% 100, %:22.100, £:19.100, H:22,500
AR (=R AR (FFH % L: ,300 42% 100
L 300 42% 100
L: 300 48% 00, H:18,500
L 800 44% 300
RIGS L 800 44%
L: 300 | 55%
L: 300 48%
800 44%
RBR (FFH=ER. AR (FFH % 400 50%
100 45%
100 45%
400 50%
400 50%
400 50%
400 50%
400 50% 700, H:16,900
ERER 400 50% 100
400 50%
400 56%
600 50%
900 49%
100 45%
100 45%
100 45%
RRCHE)=-RE RRCAE R 600 59%
600 59%
RER .600 59%
600 59%
RRCHE)=-EE RRCHE) R 700 61%
BEE ,300 59%

JAL
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SEEEAA 2022/09/16
10/25-29
=30] T BEIMTE
AR yz% e
R CHE)=18R RRCAE R 500 46%
500 | 46%
000 40%
000 38%
000 38%
L: 400 39%
L: 400 39%
L: 300 44%
L: 100 45%
100 45%
1323 500 46%
L325 500 44%
L327 600 41%
1329 100 40%
L331 100 40%
1333 100 40%
L335 600 39%
BERE L300 .900 43%
1302 000 40%
1304 000 40%
L306 700 39%
L308 100 40%
L: 600 41%
L: 500 44%
L: 500 46%
L: 500 46%
L3 400 42%
L320 400 42%
L322 400 42%  2:28,400, £:26.300
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501 14,500, %:17.100, F:17.800
503 K:15,500, %:18.000. +:20,100
505 000, £:21,300, £:23,600
507 000, %:21,300, +:23,600
509 900, £:23,000, F:24000
900, %:22,000. +:23,000
500, £:19,700, F:20000
300, %:18,200, +:17.900
700, £:17,700, £:17.200
K:15.700, $:18.100, $:17.800
000, %:18,800, +:16,700
[CuL52 ;15,000 %:18.800. F:16,700
[CuL525 400, £:18,700, £:15300
[uL527 400, %:18,700, +:13,300
[JL529 500, £:18,500, F:12,000
531 500, %:16,500, +:10,100
LR HTFR) R 500 000, £:19,500
[JL502 719,000, %:19.900
[CJL504 >:18,600, 1:19.000
[JL506 719,000, %:19.000
[CJL508 200, +:17,800
600, +:16,500
200, :16,000
000, F:15,500
100, F:15,000
400, F:15,000
520 700, :13,500
522 400, %:21,700, £:13,500
524 400, $:21,700, £:13500
526 300, %:20900. +:13,000
528 519,200, 1:13.000
530 00, £:12,000
303 700, :16.400
[JL305 700, +:16.400
[uL307
[JL309 18,400, 7K:18.400
18,400, 7K:18,400
17,300, £:17,400, £:17.400
£:17,400, £:17,400
[ %:17,400, £:17.400
[CuL323
[CuL325
[CuLsz7
[JL329
331
[uL33s
335
1BE% [JL300
[ JL302 |
[ 304 |
[ JL306 |
[ 308 |
217,400, £:17,400
4:17,400, £:17.400
£:17,400, £:17,400
400, F:17,400
[CuL320
[CuL3z2
[CuL324
[ JL326 | __
[ 328 | +:17.300
[ JL330 | £:17300
332 %:17,400, £:15.200
R CHE) =94 (%) RECAE)®E [ JLoot | :X:21,500, £:22,300, +:22.300
[JLo03 X:23,400. %:24,000. F:24,900
[ JL90S5 | X:23400, 24500, F:24.900
[JLeo7 X:23.400. %:24,500, F:24,900
[JL909 :22,500, %:24,100, +:24,100
;21,800 £:24,000, £:24,000
JK:12,500, %:12,500, F:19,600
7K:11,500, 7:11,500, +:19.000
[ 600 814
[CuL923 000 784 [7K:10,000, A:10000
925 300 60% | X:17,600. 7K:8,800, 79,000, F:19.000
R GIRER) 900 300 78%
[JLo02 100 80%
[uL904 600 79%
[JLo06 600 77%
[JLoog 300 7a%
300 | 58% 000, %:21,600
300 | 58% 000, £:21,600
300 | 58% 000, %:21,600
400 54% 000, +:21,300
[ 400 | 5% 000, F:21,300
[uL920 800 57% 000, F:20,700
922 000 | 58% 000, %:20,400, £:20400
R (D =ALIR (B F i) R 2001 000 65% 400, +:24700
[JL2005 700 65% 00, £:21,700
(L2009 200 72%
2019 000 | 80% :16.200
HREFTR R 2000 9,900 81% £:12,000, +:16.100
2006 14600 71%
[JL2010 17,000 67% £:19.100
2016 000 | 654 L +:19.100
RIR (BB) AR (FF)| RREIE R [ JL2s01 000 76% £:20700, +:20700
2505 900 814
HREFTTRR 2504 900 79% £:15.400
2506 000 | 76% +:14400
R CHE) =R &I R CHE) % L565 | 400 62% £:22,000
[uLs67 400 | 624 +:22,000
569 900 | 67% _
ESPIES 562 800 61% 400, £:19.900
[uLs64 800 61% 220400, :19,900
566 800 | 69%  £:19.200, F:15,000
R CAE) =K ZEOES 7. 600 69%  £:19,200, +:19.300
400 | 61% |£:20,700, +:20.700
600 | 63% £:19,600, F:19,100
600 63% 500, +:16,600
HILFE 500 61%  £:21,400, +:20400
000 | 62%  +:20400
000 | 624 000, £:19,600
700 71% [ A:14500, %:17,500, F:14,700
R (FE) =R L585 | 900 51%  7:19,300, £:20400, +:21400
[uLs87 000 | 56%
589 500 | 63%
B3 [ JLs84 500 57%
[JLs86 100 51%
588 600 55%
TR CRE) =R R CHE) % 000 68%
9700 | 74%
9,700 7
14300 61%  :13500
9700 | 74%
[EITES 9,700 74%
234 9700 | 74%
236 12000 | 68%  %:12800. F:12,800
240 9700 | 74%
247 15600 | 58%  %:15900. F:13,500
RECHE)=ES L253 | 9,800 T4k
[uL255 17, 54% ;17,800 0
[CuL257 54% Al 0
[JL259 74%
261 4%
[CuL263 900 | 66%  £:14300 F:14.100
[uL265 | 300 60%  %:15800, +:13,300
267 800 | 74%
=53 [_JL252 800 74%
[CuL254 800 74
[CuL256 400 7% 213,400, £:13400
[uL258 800
[CuL260 14,800 1% 215500, £:13,800
[JL262 14,800 1% 16,200, F:13,800
[CuL264 16,400 7% 2:17,300, +:13,800
266 9,800 ZL




%S85 EER(10A25~20 R ERS)

BEEAE 2022/09/16
10/25-29
= 7 ER/ITA 778
= %
@_ESE B31% % %
R CHE)=HE 900 69%
300 46%  F:19,800
900 | 69%
800 61%  A:14.200, &:14,500, £:14500
900 | 60%
HER 000 58%  A:15.300. #:15.300, F:17.200
900 | 69%
900 | 69%
800 45%  £:20,100
900 | 69%
R CHE) =S R CHE) % 500 74%
14900 59%  F:12,100
9500 | 74%
9500 | 74%
000 62% £:14900, +:11,100
500 | 74%
BER 500 74%
500 744
200 64%  +:11,500
500 | 74%
200 64%  +:11,500
500 | 74%
R CHE) =B R CHE) % 800 3%
13400 63%
9800 | 73%
9800 73%
13,200 64%
16300 | 55%  %:16800. F:13,500
9800 | 73%
BHR 9,800 73%
9800 | 73%
13400 63%
9800 | 73%
12400 66%
13,400 63%
9800 | 73%
R CHE 9,800 75%
000 | 664 | £:14500, £:14700
800 | 75%
000 | 61%  :13500
800 | 75%
R 800 75%
800 | 75%
12500 68%  %:13.900. F:13,900
9800 | 75%
100 56%  %:18000, :13,600
TR CRE) =L R CHE) % 100 74%
400 | 58% | %:17.700, £:17.100
100 74%
800 | 68% £:15000. F:15000
900 60% £:18,100, +:14,800
100 74%
EYIES 100 74%
100 74%
400 66%  £:14,700, +:14,900
500 | 66%  £:14,300. F:14,300
100 74%
900 | 60%  :16400. F:13,300
R CHE) =AM R CHE) % 400 59% | £:16500
200 | 68%
500 57% 000, £:16,400
500 | 64% 000, F:16,400
TRNE 600 | 66% 600, F:16.400
600 61% 000, £:17,000
800 61% 500, +:15,900
400 | 664 900, +:13,200
AR (FE)-ERS R (HE) % 300 62% 600, 7K:11,200, A:14,800, 15300
600 | 57% 000, 7K:15,200, 7:18,800, £:19.700
500 | 57% | X:17,000, 7:15.200, :18,800, £:19,700
400 | 664 &l
400 66% 000, £:19,300, +:18500
200 70%  A:17.300. :18,300
200 70% 300, A:16,700, 216,700
200 70% 16,300, :16,700, £:16,700
BRBR 700 65% 300, A:16,300
700 | 65% 14,200, :16,400, £:17,000
000 | 65% | X:13,200, 7K:16,300, A:15.200, £:16,700
000 | 65% ;13,200 7K:16,300. A:15200, %:16,700
300 64% 600, £:19,800, +:18,800
300 64% 800, £:20,600. +:19.600
200 70% 000, £:18,600, +:18,300
200 70% 000, %:18,600, +:17.300
R CHE)=RE R CHE) % 400 60% 900, +:31,700
400 | 60% 000, F:31,700
BER 400 | 60% 000, +:31,700
400 | 60% 900, +:31,700
AR FFR) =R R HTFR) R 700 51%
700 | 51% £:12,300
700 51% k12,300
ESCRIES 700 51%
700 | 51% 12300
700 51%
RAECHE)=-EE | REAGE)E 500 61% 7K:22,000, 7:22,000, F:28,900
EHR 100 68%  $:28.100. 1:30.500
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